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NOTE: answer the following table by capital letters.
( Asswine that the gravity acceleration g=9 8 m/s”).
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| What is the readine of the following caliper?
TA- 2.210+0.005¢m.

B- 2.01£0.03mm, =T
- 2.21=0.05mm. '
D- 221040005 num.

What is the reading of the following Micrometer?

A- 1.973040.005mm
B- 15.423£0.005mm e
- 19.730400.005mm ¢ 1

| D- 19.730+0.005¢cm :
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M)- The time decreases as the difference in the masses increase

Ta calculate the density of a sphere. A student get the following measurments. The radius of the sphere

. - : : : . hp
i3 = (3.50=0.05)mm and the mass is m = (5.010.1)g.then the relalive error in the densily ey
2

[™W-0.063 B- 0.08 C-0.15 D- 0.034

In Newton's 2™ law exp.if the total mass remains constant. Which of the following statement is True :
A-The me increase as the difference in the masses increase,

| B- The time decreases as the difference in the masses decrease.

' (- The lime remains constant as the difference in the masses change,
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TE- Both vertical & horizental acceleration are constants. e
¥D- The vertical acceleralion changes, i

In projectile motion which of the following statement is lrue:
A- The vertical acecleartion is equal to zero.
B- The horizental acceleration is cqual to g = 9.8 m/s*,
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In question (5). If the initial velocity Vy is not horizental but with angle 0. Which of the following
| quantites remains constant:

A- The time of flight, C-The horizental distance D is constant

B- The initial velocity, D- The y-component of Vo.
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In question (5). If a student studicd the relation between
the height h and the squre distance D, and he plotted the
results in the following graph. The the height y is:

A- 12 cm
B- 6llem
FC- 15 em
D-20cm.
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In the conservation of energy cxp. The ticker timer gives the

gravity g in em/s? is:

| frequency of the electric current is 50 Hz and m=100 g and M= 1000 g. Then the acceleration of

following p&pw Strip(css ). If the
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1.7 em
C-

0.5 cm

A- 980

869 - 6840,

| In Newton's 2™ law exp.

i (Attwood machine). A

student studied the relation

between the acceleration

a and the inverse of total mass

m;+m; and the results is drown in

. the following gragh. Then the

et foree 18 ¢
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In the conservation of energy exp. Mass-spring system

a student dropped the mass each time [rom the natural length
of the spring. and he obtained the results as shown

in the figure. Calculate the spring constant (K).

\R— A ™N/m
D- 50 N/m

- 30 N/m
C- 40 N/m
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In the rotational dynamics ¢xp. A plot of
( Lvs. R* ) is shown. If the moment of
inertia of the cylinder is negligible, the
mass m is ;
A-10Kg
C-5Kg.

B- 0.2 Kg.
8- 0.5 Kg.
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" the previous question the moment of inertia of the rod is:
+A- 18 Kgom® B- 10 Kg.em’ C-15K

g.em’ D- 30 Kg.em’,
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